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Question Number : 1 Question Id : 908988255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CPU comprises of:

Options:
1 % RAM and ROM

> % ALU and RAM
5 « ALU, CU and Memory Unit

4 # RAM and CU

Question Number : 1 Question Id : 908988255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » RAM 3T ROM

, » T HR RAM

i 4 Ll @ﬂﬂﬁfﬁﬁ'ﬁ'gﬁz

, » RAM 3R Fgrer Ifere

Question Number : 2 Question Id : 908988256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In M35 Excel the cell reference for a range of cells that starts in cell B1 and goes over to column G and down to row [0

I5

Options:
, % Gl-GlO

> % Bl.GIl0
. % BL;GIO

4 ¢ Bl:Gl0



Question Number : 2 Question Id : 908988256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. % G1 - G10
. % B1.G10
. » B1; G10
.« B1:G10

Question Number : 3 Question Id : 908988257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The input device that is most appropriate for playving games on a PlayStation is:

Options:
e ovystick

> % Touch Panel

= #% Mouse

4 % Track Ball

Question Number : 3 Question Id : 908988257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 4 Question Id : 908988258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The arrangement of windows where windows are overlapped on each other and only the title of each window is visible
is called as:
Options:

1 % Titled
- % Vertical
= % Horizontal

4 « Cascade

Question Number : 4 Question Id : 908988258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 5 Question Id : 908988259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who among the following has contributed to the idea of the stored program?

Options:
1 +« John von Neumann

> % Charles Babbage
= % Howard Aiken

4 % Daniel Thomas

Question Number : 5 Question Id : 908988259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 6 Question Id : 908988260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following displays the output in the form of text and graphics in a soft copy form based on the user
request?

Options:
1 % Printer

> % Plotter
3 « Monitor

q4 B CPU

Question Number : 6 Question Id : 908988260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 7 Question Id : 908988261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Front-Side Bus (FSB) is a/an path on the motherboard of a computer.

Options:



« analog
« digital
5 o electrical

w magnetic

Question Number : 7 Question Id : 908988261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 8 Question Id : 908988262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A typical hard disc drive used in desktop computers is in size.

Options:
1 ® 4.5inch

> #% 5.5inch
z % 6.5inch

4 « 3.5inch

Question Number : 8 Question Id : 908988262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 9 Question Id : 908988263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Information that comes from an external source and is fed into the computer software is called

Options:
| % Output

5  Input

5 % Throughput

4 8 Reports

Question Number : 9 Question Id : 908988263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

Question Number : 10 Question Id : 908988264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a high-level language?

Options:
1 ® C++

> % FORTRAN



= % Basic

4  Assembly

Question Number : 10 Question Id : 908988264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 908988265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If vou receive one file through the Internet having a virus, what do you select if you want to remove the virus?
Options:
; w Disk Cleanup

o o Scanusing Antivirus
%z % Uninstall

4 # File Cleanup

Question Number : 11 Question Id : 908988265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 908988266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following provides an easy interface to browse the Web documents?

Options:
, w Internet service providers

> % E-mails
3 # Filters

4 « Browsers

Question Number : 12 Question Id : 908988266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 13 Question Id : 908988267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
are concentric rings on a disk surface.

Options:
1 « Tracks
> % CDs

= % Sectors

4 % Ports



Question Number : 13 Question Id : 908988267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 14 Question Id : 908988268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When you type a web address such as ‘http://www.mkclorg’, the extension “.org” indicates which of the following?
Options:

, % Original website

> % Commercial website

-  Organisational website

4 % Educational website

Question Number : 14 Question Id : 908988268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 908988269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
When a pointer is positioned on a it is shaped like a hand.

Options:
| ® Screentop
> % Office assistant

-  Hyper link

4 % Spelling error

Question Number : 15 Question Id : 908988269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 16 Question Id : 908988270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Software such as explorer and fire fox are referred as-

Options:
| % System software

-~ » Utility software

= « Browsers

4 % Internet tools

Question Number : 16 Question Id : 908988270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 908988271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In order to E-mail a Word document from within Word 2003

Options:
, « Go fo File then Send To then Mail Recipient

> % Save the file as an e-mail attachment

- % Start Outlook and attach the file while open in Word

4 % Thisis an impossible operation

Question Number : 17 Question Id : 908988271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 18 Question Id : 908988272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the name of the small toolbar at the top that can show the save disk option in Word 20167

Options:



, % My documents
-  Quick Access

= % Title bar

4 % Fine me

Question Number : 18 Question Id : 908988272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 19 Question Id : 908988273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following devices can be used to directly read text from an image?

Options:
1 « OCR

> % OMR
s % MICR

4 % Printer

Question Number : 19 Question Id : 908988273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, ¢ OCR




. % OMR

- = MICR

4@3%

Question Number : 20 Question Id : 908988274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The advantage of a LAN is:

Options:
| « Sharing peripherals

- » Backing up your data

5 % Saving all your data

4 % Accessing the web

Question Number : 20 Question Id : 908988274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 21 Question Id : 908988275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following may NOT be required for booting?

Options:
, % Thehard disk of a computer system

~ o Mouse



5 » A mini floppy disk

4 % ACD-ROM

Question Number : 21 Question Id : 908988275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 22 Question Id : 908988276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Alignment buttons are available on the tab in Word 2016.

Options:
1 #® Review

- « Home
- #% Standard

4 ® View

Question Number : 22 Question Id : 908988276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 908988277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word, to insert footnotes which tab is used?

Options:
1 % Insert

> « Reference
5 » Mailing

4 % Review

Question Number : 23 Question Id : 908988277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 24 Question Id : 908988278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is correct about WAN?

Options:
, « Itisadata communication network, covering large geographical area.

- % It Isadata communication network, covering a limited geographical area.
% In such a network, less than three participants are separated by large distance.

>

4 » Itisadata communication network, covering one city.



Question Number : 24 Question Id : 908988278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 908988279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Technique to link two computers is called

Options:
1 % Internet

> % E-mail
5 % E-prom

4  Networking

Question Number : 25 Question Id : 908988279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

Question Number : 26 Question Id : 908988280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



An ISP provides Internet connectivity via dial up connection with the help of:
Options:
1 # Router

> % Hub

Switch

L
®

4 « Modem

Question Number : 26 Question Id : 908988280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 27 Question Id : 908988281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meaningful filename helps in easy file

Options:
, % storing

-  accessing

= # identification

4 % printing

Question Number : 27 Question Id : 908988281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 908988282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the Excel formula, which symbol specifies the fixed columns or rows?

Options:
1.« 8

o
4
&

Question Number : 28 Question Id : 908988282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 29 Question Id : 908988283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Programs such as PowerPoint are also known as:
Options:

, % Multimedia web design tools

- % vector graphics programs



5 % Veb design tools

4  Multimedia-presentation tools

Question Number : 29 Question Id : 908988283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 908988284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An electronic page in a presentation is called:

Options:
1 « Slide

> # Card

5 % E-page

4 % Page

Question Number : 30 Question Id : 908988284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 31 Question Id : 908988285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Using MS PowerPoint, which layout will you use to display hierarchies of employees in your company?
Options:

1 % Chart

- #% Table
z % Column Text

4 v Organization Chart

Question Number : 31 Question Id : 908988285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 32 Question Id : 908988286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The first electronic worksheet was known as:
Options:

1 « VisiCalc

-~ % Lotus 1-2-3

z % Microsoft excel

4 % OpenOffice Calc



Question Number : 32 Question Id : 908988286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1« VisiCalc

- R (_“hm 1‘2-3
= # Microsoft excel

4 » OpenOffice calc

Question Number : 33 Question Id : 908988287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The term ‘cycle stealing' is associated with:

Options:
; « DMA

» % Data transfer among registers

5 » Pipelining

4 % Microprogramming

Question Number : 33 Question Id : 908988287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 34 Question Id : 908988288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which type of technology prevents viruses from taking over programs loaded into system memory?
Options:
, = Data encryption prevention

- % Device encryption prevention
-  Data execution prevention

4 w Device execution prevention

Question Number : 34 Question Id : 908988288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BT ST & FFE T & (e 3R 7 o B e 9iest & s 9e 3eeT 7 39 F OFar 27

Options:

. % 3T Ulemeerd JHTH

. » I Tlehoad UFATH
- v 32 v wfdsy
, « [3EEE fasues (e

Question Number : 35 Question Id : 908988289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a network, firewall system and prevention of unauthorised access are provided by:

Options:
, w Bridge

5 o Gateway

5 % Repeater

4 % Switch

Question Number : 35 Question Id : 908988289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 36 Question Id : 908988290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to select all cells that contain comments in MS Excel?

Options:
; % ALT + ENTER

> « CTRL +SHIFT +O
5 % SHIFT +F2

4 % CTRL+W

Question Number : 36 Question Id : 908988290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

. % ALT + ENTER

, v CTRL + SHIFT + O
. = SHIFT + F2

. % CTRL + W

Question Number : 37 Question Id : 908988291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to close a word document?

Options:
i ¢ CIRL+W

> % CTRL+C



5 « CTRL+E

4 # CTRL+D

Question Number : 37 Question Id : 908988291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TS TEAES AC FA & [T Fr IS FAT §7?

Options:

, v CTRL + W
, x CTRL + C
2 % CTRL + E

% CTRL+ D

Question Number : 38 Question Id : 908988292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to finish modifying a value in a control on the ribbon, and move focus back to the
document?

Options:
1 #% Tab

~ « Enter
5 % Shift + Enter

4 % ESC

Question Number : 38 Question Id : 908988292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fmw = oo # ve 7T W WifT S & g, AT Erore W ITW BiEH i & e g
TOrAS F4T 87

Options:

1 ® Tab
5 « Enter

z % Shift + Enter



. = ESC

Question Number : 39 Question Id : 908988293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following protects CD layers?

Options:
| Acrylic

- u Polycarbonate

= % Aluminium

4 % Aluminium oxide

Question Number : 39 Question Id : 908988293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=efRa 7 @ #iF o O (Frtee Bw) fr war Fr er s=ar g2

Options:

1.9 Q# aﬁ

s At deass

Question Number : 40 Question Id : 908988294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In M8 Word, which of the below commands closes the active window but does not cause the Word application to be
exited?

Options:

1 o Ctrl+W
w8 (CHEAE
3 & Cul+V

4 ® Ctrl+Z



Question Number : 40 Question Id : 908988294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word &I Ig HIadl FHIE g A Ulded &§8r &I 8¢ & 3T ¢ oliehd 30 fhaeads ¥ Word
TCSRRI TS et 2T &7

Options:

, v Crl + W

, % Cirl + C
2 % Cirl + V

L% Ctrl + Z

Question Number : 41 Question Id : 908988295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A ” provides high-speed Internet connections through a cable television network.

Options:
1 « Cable modem

> % OSP
3 % ISP

g4 W URL

Question Number : 41 Question Id : 908988295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
" " Uk FEA ClllaSAd AedF & AETH ¥ 3= IS SIS FAFUT TS FIAT 2

Options:
| « Heol HISH

, x 3T BEHHE HeHo (OSP)
. « $eClaC WG Weldier (ISP)

, « e REW s%e (URL)

Question Number : 42 Question Id : 908988296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
GIF stands for:



Options:
; w Graphics Input file

- « Graphics Interchange format

- » GetInputFile

4 % Google Interchange format

Question Number : 42 Question Id : 908988296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
S.A8.0F. (GIF) T 90T T9%9 F47 87

Options:

.« Graphics Input file (FTHeFH TAIE FIE)
.0 Graphics Interchange format (mﬁmtr SEQ?EI' ] qﬁiﬁ?}

. » Get Input File (AT TAIE FI5e)

' Google Interchange format {ﬂj\dfod éuﬁd tﬁliﬁ?}

Question Number : 43 Question Id : 908988297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The slide that is used to introduce a topic and set the tone for the presentation is called:

Options:
1 % Table slide

> % Bullet slide

- % Graph slide

4 « Title slide

Question Number : 43 Question Id : 908988297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ﬁmﬁﬁmmﬁﬁﬁm#ﬁwﬂmﬁﬁmwmﬁmmﬁm%ﬁgwm
ol

Options:



3 ® T Tellgs

,  TTETH FEE

Question Number : 44 Question Id : 908988298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following accesses database information and interacts with the user?

Options:
1 ® Server

> « Client

o % System

4 % Database

Question Number : 44 Question Id : 908988298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T & ¥ 77 2Ty FFEAT HEIE (THEW) HIaT ¢, HR STAETRar ¥ WER R e g7

Options:

| % W

E.JW
5 » TOECH
4 % STEW

Question Number : 45 Question Id : 908988299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A chart can be used for categories that represent ranges of values in MS Excel.
Options:

1 ® stock



> « clustered column

- ® area

4 % bar

Question Number : 45 Question Id : 908988299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel &, geaf $t aofr 71 s s e =t & v ow e FT T eI =T
TFAT 1

Options:

1_-%3 ET?

> » FAEES HIGH

S_WQﬁ'ﬂT

4_-’333-'?

Question Number : 46 Question Id : 908988300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is helpful to locate exact point where the line intersects the axis in MS Excel.

Options:
1 % Trend line

> #% Horizontal axis

-  Drop line

4 ® Vertical axis

Question Number : 46 Question Id : 908988300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel & ST o=, Henn =1 e = ¢, 309 v g &1 o = A b= e
g B

Options:

| x TICA(SS) R
, » Slfast 3R (BRSleed Tlaaa)
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Question Number : 47 Question Id : 908988301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Pick correct sentence.

Options:

, w Desktop background pictures (Wallpaper) have a fixed size

> of Desktop background pictures (Wallpaper) have different size (dimensions)
5 » [Ihereis a standard size for Desktop background pictures

, » Smaller pictures than screen size cannot be used as Desktop background pictures

Question Number : 47 Question Id : 908988301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HEr T I
Options:

i sEheT TS BT (FTeam) &1 s ARea 3R g g

a8 TR T BT (Fem) e HeR (3IH) & & 8

- FneT TresfH ol (FTem) & T T A 3R AT Bl

4 %

BRI AR HT gET # B = #1399 e TSeNfE RN & w9 H A@ & 1 Fwar g

Question Number : 48 Question Id : 908988302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When parent process is killed before its child is killed and the init process becomes its new PPID. At that time these
processes are called as

Options:

, « Orphan process

- % Zombie process



- % Non parent process

4 % Stray process

Question Number : 48 Question Id : 908988302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

S TSes 98 # Fd = T gger Yiee 98w = R Sar Srar € & init 98w swE A3
@ d.3me. . (PPID) & S §1 3T §HT 3 9iaEr & F T H Fgr I B

Options:

e o r
4% T TEE

Question Number : 49 Question Id : 908988303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
[PV4 was first deployed in the year:

Options:
1+ 1983
> % 1986

s % 1984

4 % 1985

Question Number : 49 Question Id : 908988303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

IPV4 & 9gar R form 3§ & ey fFar wmar ar?

Options:

|« 1983
. % 1986

5 = 1984



4 % 1985

Question Number : 50 Question Id : 908988304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the end of the IPV4 address that starts from 10.0.0.0?
Options:

1 % 10.0.255.255

Question Number : 50 Question Id : 908988304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

10.0.0.0 ¥ o[¥ g1 aTer IPV4 T3H &1 3d 47 g7

Options:

. % 10.0.255.255
, » 10.255.255.0
- = 10.255.0.255

4 « 10.255.255.255

Question Number : 51 Question Id : 908988305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To use the services of UDP, we need socket addresses.

Options:
=

1.9 =

2&33

Question Number : 51 Question Id : 908988305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



UDP &r faraft &7 399 &t & T, g5 TiFe TSH &7 =TT 2T £

Options:
1. 2

Question Number : 52 Question Id : 908988306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following should come under DON’TS for naming a file?

Options:
1 % Include version numbers

o  Becryptic

= % Be consistent

4 % Assume senility

Question Number : 52 Question Id : 908988306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

WIS T ATHSRIUT el & o0 o7 F & &7 @7 ©° DON'TS” (07T F &) F dgd Ha1 IMge?
Options:

| % TERIOT FEAT i &

o v THES H mg= 7 g (htes) 0 a7 & 797 =

5 % TPRCRAT §AC W

. BATRE (senility) A=

4.

EEADING COMPEEHEMNSION

Section Id : 90898843
Section Number : 2
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898843
Question Shuffling Allowed : Yes

Question Id : 908988307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension

Bajra

Bajra or Pearl millet has been widely grown in Africa and the Indian
subcontinent since 2000 BC. It grows in drought-ridden, low soil fertility
areas and high temperature areas where other cereal crops, such as maize
or wheat, do not survive.

Bajra Is approximately 50 per cent of the total world production of
millets. India is the largest producer of pearl millet. Over 95 per cent of
pearl millet production is used as food and the remainder is animal and
poultry feed and for other uses.

Pear| millet looks like brown rice and can be cooked in about 20 minutes
after it has been soaked for a couple of hours. In fact. a cup of dry millet
expands to three cups of cooked millet that is a fluffy, delicate flavoured
dish. Bajra is used to make rotis or the dry flour is added to biscuits bread
and roll dough, which gives it a crunchy texture.

Bajra is an important source of energy, protein, vitamins and
minerals for millions of poor people. It contains 9% to 13% protein. As it
is very high in calories it greatly helps growing children and pregnant
women. It is rich in B vitamin, potassium. phosphorus, manganese and
low In lectin activity and high in insoluble fibre.

An important feature is that bajra is ideal for people with wheat
allergies as it is gluten-free grain and retains its alkaline properties after
being cooked. It is astringent and sweet in taste, dry, bowel- binding and
light. Bajra can be eaten in all seasons. It is recommended for people
with diabetes, oedema and obesity.

Bajra roti is one of the most nutritious staple breads in the Indian
cuisine. It is filling and provides huge amounts of energy for strenuous
physical work. That is why it is called the farmer’s food.

Sub questions

Question Number : 53 Question Id : 908988308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Why is Bajra called ‘farmer’s food™? It. ..

Options:
1 % Grows on every farm

> % IS easy to grow
- u Fetches them good money

4 « Gives them energy for hard work

Question Number : 54 Question Id : 908988309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following conditions is suitable for growing
bajra?
Options:

, w Heavy rainfall slopes

- w Well-irrigated fields

5 » Fertile plains

4  Dry and uncultivable lands

Question Number : 55 Question Id : 908988310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does pearl millet look like?

Options:
1 « Brown rice

> % Maize
=z % Brown Wheat

4 % Corn

Question Number : 56 Question Id : 908988311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For whom is Bajra most helpful?

Options:



, » Farmers and pregnant women

> % Babies and farmers

5  Growing children and pregnant women

4 » People with rice allergies

Question Number : 57 Question Id : 908988312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the quality that bajra gives to baked food?

Options:
1 % Softness

> « Crunchiness
3 % Flavor

4 #% Fluffiness

Question Id : 908988307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 908988308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T HTT AT FAT FET FTAT 27 e

Options:
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1
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Question Number : 54 Question Id : 908988309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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TRty 3w &2
Options:
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Question Number : 55 Question Id : 908988310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 56 Question Id : 908988311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T FFEs BT gEw 3Taet 22

Options:
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Question Number : 57 Question Id : 908988312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=T 3F (bake) ﬁﬁg‘@@?‘rﬁrqﬂﬁmﬁaﬁ
Crars -

Options:
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OUANTITATIVE APTITULDE
Section Id : 90898844
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6

Section Marks: 6



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898844
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 908988313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What approximate value should come in place of the question mark (?) in the following question?
(You are NOT expected to calculate the exact value.)

23 iRyl g
10 7 .

Options:
1 ® 68

4« 84

Question Number : 58 Question Id : 908988313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
frafaf@a 9o 7 wea REd (?) & ®e W HgAAd A 24T gem?
(HTIeRT HEF AT &I IUTAT T ST HFTFRaT oTel gl)

PR vl e
i0 7 2

Options:

1 % 68

o & ?2

z ® 93

4 v 84

Question Number : 59 Question Id : 908988314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A shopkeeper bought 30 kg of wheat art the rate of 45 per kg, He sold forty per cent of the total quantity at the rate of
T 50 per kg Approximately, at what price per kg should he sell the remaining quanticy to make 25 per cent overall
profit?

Options:
1 ® % 54

4 < 60

Question Number : 59 Question Id : 908988314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U FAET A 45 TIU wiE AT #7 a7 ¥ 30 e aE @i 36 50 T 9 e aw w g
ATHT T =THR STenT &= $19 /i & g5 =EE B srAT 917 Wi TRer &= arfe 39 25 wioee &
HAT &1 9T 2 =T

Options:

1 % 54@:{'?

o ® 523?'?
o ® 5035!":’

Question Number : 60 Question Id : 908988315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Two-thirds of three-fourths of one-fifth of a number is 15. What is 30 per cent of that number?
Options:

1 o 45

o B 60

Question Number : 60 Question Id : 908988315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
et T % o= Rew ¥ d=-dlu v & g 15 81 3% FEw # 30 wfoea e gem?

Options:



1.« 45
- ® 60
o % ?5

4 * 30‘

Question Number : 61 Question Id : 908988316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A trader sells an article at ¥ a after offering discount of 4% on iis marked price, Had he NOT offered the discount, he
would have eamed a profit of b% on the cost price. The cost price of the article is:

Options:
100%a

1 ® (100 +d)(100 - b)
100%a

o {100 — d)}{100 + b)

3 100a
z % (100 — d)(100 + b}

100a
4 ®%  (100+d){100-b)

Question Number : 61 Question Id : 908988316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

v S Rl aEg & RfEA wew W d% # g & ey F 9E 39 95 @ T a # 9
FT 3H :ﬂ#ﬁamraﬁﬁaﬁﬁ #mﬁmﬁmrb%mwﬁﬁmlﬁm
AT AT T

Options:
100%a

i % (100 + d)(100 —b) =
100%a

5 « (100 — d)(100 +b) =
100a

= % (100—d)(100 +b) U
100a

4 % (100+ d)(100 - b)



Question Number : 62 Question Id : 908988317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The value of V60.84 +/0.6084 +/0.006084 + +/0.00006084 lies between:
Options:

1 % 6and7

7 and 8

ra
®

z « 8and9

0 and 10

o
B

Question Number : 62 Question Id : 908988317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
v 60.84 ++/0.6084 +/0.006084 ++/0.00006084 =T HATH 3 F T H gIam|

Options:

v 83RO
. = 93Kk 10

Question Number : 63 Question Id : 908988318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If12+3%2+5%2+4---+17% = k x 19, then the value of k is:

Options:
1 ® 34

Question Number : 63 Question Id : 908988318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

I P23 5 v 1P = kx 19 & A ko a9 far?
Options:



GEMERAL MENTAL ABILITY AND REASCRING
Section Id : 90898845
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898845
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 908988319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Study the following arrangement carefully and answer the question given below:
WIR%A4JE#7TMT219BH3AS9FQ5DG6USP

Which of the following is the seventh to the right of the eighteenth from the right end?

Options:
1 ® A

Question Number : 64 Question Id : 908988319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1%-$A

E%SE

3¢ 9

4%&#

Question Number : 65 Question Id : 908988320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Hovw many such pairs of letters are there o the given word each of which has as many letters between them in the word
as 1n the English alphabet?

PREAMBLE

Options:
1 % One

> o Two
3 % Three

4 % More than three

Question Number : 65 Question Id : 908988320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

folr 7 weg H FeRT & oW eow w2 £ B9 O wods & 99 390 & s § Tooe e aveen #
I @ 7

FREAMBLE

Options:

1 % One

o« TWO

z ®% [hree

4 % More than three



Question Number : 66 Question Id : 908988321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If all the letters from A w Z were writtenas A € E G upto Y, i.e., dropping each altemate letter, leaving blank space
and then all the blanks were filled in with remaining letters in reverse order 12, AZCXE V...... ending with B.
answer the following question:

Which letter would be placed between Q and 57

Options:
1 ® H

o« J
3_321_

4 % R

Question Number : 66 Question Id : 908988321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Fmram it T amsr e e s R s & s AZC X E V.. B o7 573,
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Options:

1_&3H
o« J
EIERL

4 % R

Question Number : 67 Question Id : 908988322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the pair from the options that has the same relationship as that shared between the pair of words given below,
Paradigm : Pattern

Options:
1 « Structure ;: Framework

> % Maxim : Theory

= % Container : Content



4 % Skeleton : Flesh

Question Number : 67 Question Id : 908988322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 HIEEAT ST
. » wgad : ff=E

= % 9T : \IAA

4 % FheRlel @ ATH

Question Number : 68 Question Id : 908988323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the alternative with the most appropriate description about these three words.

Chlorine : Fluorine : Iodine
Options:

, % These are names of inert gases.

-~ % These are the gases that are found at the room temperature.

= % These are transition elements.

4  These are halogens.

Question Number : 68 Question Id : 908988323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 69 Question Id : 908988324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
CFED is related to PSQR in the same way as JMKL is related to?

Options:
| % YXZW

> % YVZX
5  WZIWZ

4 % UVXZ

Question Number : 69 Question Id : 908988324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

CFED, PSQR ¥ T3 ¥R §a0d § 38 9K JMKL /7 # ¥ freg =g &2

Options:

1 ® YXZIW

o % YVZX

= ¢ WZWZ

4 ® UVXZ
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 908988325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which of the following place is the Forest Survey of India [FSI). a national organization engaged in forest cover
mapping, forest inventory and (rainng in the feld of remote sensing and Gls, locaged?
Options:
1 « Dehradun

5 % Itanagar

z % Ahmedabad

4 ® Alzawl

Question Number : 70 Question Id : 908988325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T w7 A, 59w s fode @ A e & oy & 9l see s T e Eeee
‘g g9 Tdeur (TwuaHE) T 9 By one g e

Options:

. W SRS
, % $EIR

S_RW

, % HESS

Question Number : 71 Question Id : 908988326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The most powerful woman in business in India as rated by the “Fortune™ for the year 2012 is:

Options:
1 « Chanda Kochhar

> % Prabha Parameswaran

5 » Debjani Ghosh

4 % Anjali Bansal



Question Number : 71 Question Id : 908988326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 72 Question Id : 908988327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Late Girilal Jain was a noted figure in which of the following field?

Options:
1 % Literature

> « Journalism
z % Politics

4 % Social Service

Question Number : 72 Question Id : 908988327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 73 Question Id : 908988328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following pairs are correctly matched?

l. Granites — ----- Batholiths

2. Marbles  ----- Hogback ridges
3. Quartzite ----- Ridge crests

4. Hard rocks ----- Monadnocks

Select the correct answer using the codes given below:

Options:
| % 1,2,3and 4

5 o 1,3and4
z % 2and4

4 8 1,2and 3

Question Number : 73 Question Id : 908988328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % 1,2 33R4

, v 1,3 3R 4
= 1,23R 3

Question Number : 74 Question Id : 908988329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
An American multinational company Monsanto has produced an insect resistant cotton variety that is undergoing field
trials in India. A toxin gene from which one of the following Dactaria has been transferred to this transgenic cotton?



Options:
1 % Bacillus subitillis

-  Bacillus thuringiensis
- » Bacillus amyloliquefaciens

, = Bacillus globuli

Question Number : 74 Question Id : 908988329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| » S&ow wafefem (Bacillus subtillis)

- S ey gﬁﬁlﬁm (Bacillus thuringiensis)

. x ATeE THEIRSETH (Bacillus amyloliquefaciens)

ik sfferE Teige (Bacillus globuli)

Question Number : 75 Question Id : 908988330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
When did the British make English the medium of instruction (education) in India?

Options:
, % 1813

> % 1833
3 « 1835

4 % 1844

Question Number : 75 Question Id : 908988330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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% 1813

> % 1833
s « 1835
4 % 1844
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English Tvping Test
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Section type: Typing Test
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Question Number : 76 Question Id : 908988331 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITENS Nistory 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of haman endeavor, including sciernce, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 908988332 Question Type: TYPING TEST Display Question Number : Yes

The power of concentration manifests as focused attention and as a one pointed mind. When you focus your
rind on sormething, you Conserve your energies and do not dissipate therm on irrelevant thoughts, This 15 why,
developing concentration is vital for anyone, who is aspiring to be more efficient in life. Without it, your efforts
get scattered, but with it, vou can accormplish great things. Concentration has many uses and benefits. It
assists in studying, enables faster comprehension, improves the memory and helps in focusing on a task.
Therefore, it can be rightly referred to as a powerful tocl that helps vou use creative visualization and dewelop
psychic powers. When this ability is strong, the mind obeys you more readily and does not engage in futile or
regative thoughts. This ability plays an important role in meditation, gaining mental mastery, and attaining
peace of mind. & person, who does not concentrate or meditate often, finds himself irritated, restless and
annoyed. Such a person is often found to be occupied with restless thoughts claim his attention constantly,
thereby wasting his time and energy on useless matters. These thoughts actually rule their life. They become
50 used to such conditions that they regard it as natural. However, it is one of the most dangerous situations
that a human being can encounter in his life. 50, develop this power. You only need to train and exercise it.
Forget all your excuses about rot having the time or being too busy. Do ot say that the circurristances are not
appropriate, or that vou cannot find a quiet place to exercise. With a little planning, desire and motivation, you
can always find the time to exercise each day, no matter how busy you are. Just make sure that you do not
inner resistance to concentration. For example, telling a child often, that he or she is not concentrating well
enough, Ccreates a subCornscious aversion to concentration and study. These hecome associated with Coerciorn,
lack of freedom, and doing something they do not like to do. Hence, when children grow up, it is no wonder
that their power of concentration is too weale One needs to understand that concentration can be a real fun, if
approached in the right way. [t should be practiced with joy, positive attitude, optimism, and understanding of
its great possibilities. Once you understand the importance and benefits of developing the power of
concentration, you will certainly grow as a mature human being. Some of the major benefits include, complete
cortrol on your thoughts, ability to focus your mind, freedom from futile and annoying thoughts, better
mermory, peace of mind, improved self-confidence, inner strength, inner happiness, more power ful and
efficient use of creative visualization, deeper and rmore successful meditation.
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